£ APEFOL A T 96 E K E A BB R
TLEH  AHIRE (38904) KB~ F e
BEMPQ)ERFARNRLER

AR COrEELI-%REG > X3 128E R (FAEfe s 34)E e S 32 B FRE(F < 3Epe s 16 4)
@QUUE~TIHLARFILINFRLIRENTE  IHREFEP 5 - TR TR & F 4
AR j%irl}cfifb%‘%ﬁ—ﬁ*&_%“{zF_P\}i%_igl)\7‘Qq_ g{,},ﬂ,g,l»h,;r,—lﬁf%\gipgg\;?g
WAL o 0 ALP A L)AL R ATEL o
O+ A Hp & TELEFH0~9 2 + —x+/ M= i 2 f§ % A+ F R -
©F F Lty BEAVPUR AL -

BARE12H(FEI L)

1.284 i & & (Phillips Curve)&_# i 5738 i ¢ B H ko Bk o

23 - AP R*3BEIVAIAZOCEAEH BT SBALIVEA L0 EKREMH - B AXTd
HE s Ai 207~ 0 gt - l[%ﬁlé?—;n 10~ 5 A4 2 10 BkEHPF > H AFC 52 X =
TVC 2 Y~ ~ATC 3 Z~ » I X+Y+Z= °

3BEX oA HAF FLOFHBP A FEF FAHE A30%B: 25%~C: 20%D: 15%~E: 5%~
F: 5% - BJpt ;"r—’ #% %12 4 fi(Herfindahl Index)p o

43 5w ik aif i A BEF FdHci: X=8-P> F X ioxp  HE =4 I & i
45 Pla ¢ B A E 5 °

SARFW TAmE- ) ek LB L4 B fA TR fid R T AT SRR % o

6.1 % x % B(Gresham's Law)* A4 % ER I

TH RS EBAINE B EHSE BT R DR

8.FCFt 1960 & (S #F b A ML > A F FHEA NFERE &S T a 2" 3,000 F A 0 238
TR SR VE Ak o

0.5 AFFHARH AR RRE > AR BRI RT > AR B -

1042458 4 THEH > BRI ESEN2E A FERPF G FARS0% » F RS aF7 % 0
FEHEARIRG o

Higd ed BT » BRASER? S FRP 5 SIFHER - AR F g o

127 28 % ARERIFE » 2 A5 Grof i) 20 SEREe X 2L EtdeT @ 443
FTHEACPT OB o Sk 32800 A4 1.50% > TH = 328200 BT 27 fpid A
1 £




AR EHr 3 (F A6 4)
P -

GRS BT (E A= ETING AR I A A RSR V- SRiS AR A I R S P AT 2o N R £
Wtk o

®E =

PR HHEEIHALMP FEREELR?

/P =

4 R PR T R Y h1 B R 93P 2

P
A REAE R T L AHRPFHETRFIIAE D AT AL B ) 0E
BN bR p

A R : 2 AL
N IL}\g
A FRP L AHRE -



